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1:<?xml version="1 0" enceding= UTF-8"2>

2i<healthGuidanceClalim amlngizsi="http://www w3 org/2001, MMLSchema-instance
~gc0B_VO8 xsd” xmlns="http://tokuteikenshin ip/checkup/ 20077

3'  fencounter?

4 <serviceEventIype code="2" />

5 cguidancelevel code="1" />

3 <guidaneeTiming code="1" />

7 </encounter>

8  <{subjsctPerson>

g <performerDrganization>

10: <id reot="1 2 382 200119 6 102" extension="1310001001" />

1l </performerOiganization>

12 {insuranceCard>

13! {insureriumber root="1.2.332 200119 6 101~ extension="00131001" />
14 <symhol root="1 2.392 200119.6 204" extension="\"1 1" />

15- <pumber voot="1 2 392 200119 6. 205" extension="11" />

i6 </insuranceCard>

17 {namer 7 F i 4 FFa A F{/namer

18 Cadde >

19 <postalCode>100-1001</postalCode>

20 <faddr>

21, <birthlime value="19400421" />
22! ‘administrativeGender code="1" />
231 ¢/subjectPerson

24 ‘healthGuidanceCard>

25 <id root="1 2 392 200119 6.210" extension="08110000011" />
26 ‘checkupCardld root="1 2 392 20011% 6 209" extension="08100000011" />
27 {effectiveTime>

28, <high value="20090331" />

291 feffectivelime>

30% {copayment code="3">

3L {rate value="020000" unit="%" />

327 <{/copayment>

33 {/healthGuidanceCard>

34° <{settlement>

35 <unitPrice>

36 (amount value="30000" currency="TPY" />

37 (FunitPrice>

38! (paymentRate value="d0" unit="%" />

391 <pointCountCompleted value="0" />

40% <{pointCountIntended value='0" />

41; <calculatedimount value="12000" currency="JPY" />
42! {payment>

43" {status code="1" />

FEN <amount valus="8000" currency="IPY" />

45 {/payment>

481 {claimAmount value="8000" currency="1PY" />

47; {/settlement>

48!(/healchGuidanceClaim)

s o

xsi:schemalocation="http://tokuteikenshin ip/checkup/2007
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< xml wversion="1 0" encoding="UTF-8 2>

;fclinicalDocument xmlns xei="http: //sww w3 org/2001/XM Schema—instance” xsi:schemalocation="urn:hl7-orgiv3 /x5d/hg08_VO8 xsd”

torgivs™>
ttypeld root="2.16.840 1 113883 1 3 extension= POCD. HDOODO4O™ />
<id nullflaver="NI" />
<code code="21" codeSystem="1 £ 392 200119 & 001" />
<effectivelime value="200806107 />
<confidentialityCode code="N" codeSystem="2 16 840 1 113883 5 25" />
<recordlarget>®
{patientRole>
<id root="1 2 392 200119 6 101" extension= 001310017 />
<id root="1 2 392 200119 & 204" extension="\ 117 />
¢id root="1 2.392 200119 & 205" extension=" 1 1~ />
<addr>
<postalCode>100-1001</postalCode?
<Saddr>
<patienpt?
<name> 7 H 2 A F P2 oA F{ name
<administrativeGenderCode code="1" codeSystem="1 2 392 200119 6 1104~ />
<birthTime value="19400421" />
‘/patient>
</patientRole>
<frecordlarget>
<author>
<time value="20080610" />
{assignedAuthor>
<id nullFlaver="NI" />
<representedOrganization>
| <id root="1 2.392 200119.6 102" extension="1310001001" />
i <name> B4R 1 2 Y = 7 {/namer
(telecom walue=""tel:0308000001" />
Laddr >
<postalCode>100~1001</postal Code> BURES T 1L M ERE HA; 1 XML EZEEA L 1 FE< /addr>
{/vepresentedOrganization>
</assignedduthor>
{fauthor>
{custodian>
<assignedCustodian>
{representedCustodianOrganization>
<id nullFlavor="NI" />
{/representedCustodianCr ganization
{/assignedlustodian>
</eustodian>
<participant typeCode="HLD">
<functionCode code="1" codeSystem="1 2 392 200119 6 208" />
<associatedEntity elassCode="TDENT >
<id extension="08100000011" reot="1 2 392 200113 6 209 1001310017 />
<{scopingOrganization>
<id root="12.392 2001196 101" extension= 001310017 />
</scopingOrganization?
{/associatedEntity>
<{/participant>
{participant typeCode="HLD">
<functionCode code="2" codeSystem="1 2 392 200119 6 208" />
{time>
<high valne="20090331" />
</time>
¢associatedEntity classCode="IDENT">
{id extension="08110000011" root="1 2 392 200118 6 210 1001310017 />
<scopinglrganization>
<id reot="1 2 392 200119 6 101" extension= 001310017 />
</scopinglrganization>
{/associatedBntity>
</participant>
¢documentation0f>
<serviceEvent>
¢code code="100" codeSysten="1.2 392 200119 6 1002" displayNeme="#EIREIRE" />
<effectivelime value="20080421" />
<petformer typeCode="PRF">
<assignedEntity>
<id nullFlaver="NI" />
{representedirganizat fon>
¢id root="1 2 392 200119 6 102" extension="13100010017 />
<name>BFB 1 7 U = ¥ <{/name>
<telecom value="tel:0300000001" />
<addr>
¢postalCode>100-1001¢/postal Code> BUAERF A HEEAH 1 XML R HE £/ 1 fi/addr>
</representedOrganization>
¢/essignedEntity>
{/performer>
</servicelvent>
</documentation0t>

T -
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82 <component>

B3 {structuredBody>

84 <compenent >

85 <{seetion>

86 Coode code="00010" codeSystem="1 2 392 200119 6 10107 displayName="{EHIGBFREL 7 - a T
51 {text /7

{entry>
<act classCode="ACI" moodCode="EWN">
<code nullFlavor="NA" />
<entryRelationship typeCode="COMP">
{observation classCode="0BS” moodCode="EVN >
{eode code="1020000001" displayName="FiE - L~
<yalue xsittype="CD” code="1" codeSystem="1 2 382 200119 & 30017 />

{/observaticn>
</entryRelaticnship>
<entryRelationship typeCode="COMP >
{observation classCode="0BS" moodCode="EVN ">
<eode code="1020000002" displayMeme="{TEHIEEAF — />

100! <yalue xsiitype="CD” code="2" codeSyster="1 2 3892 20011% 6 3002”7 />
101 {/observation>
102 <{/entryRelationship>
103 ZentryRelationship typeCode="COMP">
104 <observation classCode="0BS" moodCode="EVN™>
105! <code code="1020000003" displayName="[REEFSE =— =4~ />
106 <value xsi:type="ST">EEREHHE = —7 (value>
107 {/observation>
108 {/entryRelationship>
109 {fact>
110 <fentry>
111 {/section>
11214 </component>
113 {component >
114 {section>
115 (oode code="90030" codeSystem="1 2 382 200119 § 1010”7 displayName="fEEFIEIEREZ v a " />
116 {text /2
117 {entry>
118 ¢act classCode="ACT” moodCode=""EYN>
119° {code code="1" codeSystem="1.2.392 200119 6 3003" />
120 <effectiveTime value="20080421" />
121 {performer>
122 {assignedEntity>
123 <id nullFlavor="NI" />
124 {code code="1" codeSystem="1 2 392 200118 6.30207 />
125 ¢/assignedEntity>
126 </performer>
127 <entryRelationship typeCode="COMP™>
128 {obsexvation classCode="085" moodCode="EVN">
129 <code code="10220000137 />
130 <effectivelime>
131 <width value="36" enit="min" />
132 {feffectivelime>
133 {/observation>
134 ¢/entryRelationship>
i35 {fact>
136 <fentry>
137 <entry?
138 <act classCode="ACT” moodCede="INT">
139 {code mullFlavor="NA" />
140 ¢entryRelationship typeCode="COMP">
141 <observation classCode="0BS" moodCode="INT">
142 {eode code="1021060020" displayName="#EEA0 R BT EME" /
143 ¢value xsi7type="PQ” value="20" unit="wk” />
144 </observation>
145 </entryRelationship>
146 (entryRelationship typeCode="COMP">
147 <observation classCode="0BS™ moodCode="GOL">
148 ‘code code="1021001031"7 displayName="HZEE" />
149 ¢yalue xsi:type="PQ” value="80" unit="em” />
150 </observation?
151 </entryRelationship>
152 ¢entryRelationship typeCode="COMP™>
153 ¢observation classCode="0BS" moodCode="GOL™>
154 ¢eode code="1021001032" displayName="B{EkEHE" />
155 <value xsi:type="PQ@” value="78 57 unit="kg" />
156 {/observation>
157 {/entryRelationship>
158 <entryRelationship typeCode="COMP™>
159 <observation classCode="0BS" moodCode="GOL™>
160 <code code="1021001033" displeyNeme="H EGUBHIME" />
151 <value xsi:iype="PQ” valve="125" unit="mm{Hg]” />
162 </observation>
163 </entryRelationship>
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<entryRelationship typeCode="COMP™>
¢observation classCode="0BS” moodCode="GOL ">
<eode code="1021001034" displayNane="HETIRMmE" />
<yalue xsiitype="PQ" value="78" unit="mm{Hg]™ />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
¢observation «lassCode="0BS” moodCode= GOL >
<code code="1021001050" displayName="— B OHRK BT T ¥—it" />
(value xsi: type="PQ” value="100" unit=kcal” />
</chsexvation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<ohservation classCode="0BS” moodCode="GOL">
<code code="1021001061" displayMame="— BOOEEIZ L H BT T FALX—\" /-
{value xsitype="PQ” value="40" unit="kecal” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP"™>
{ohsexvation classCode="0BS" moodCode="GOL >
Zcode code="1021001062" displayName="— H ORFIZLHABExxLX B />
<value xsi-type="PQ” value="60" unit='kcal” />
{/observation>
</entryRelationship>
<fact>
{/entry>
</section’
</ component>

{compenent>
{section>

<code code="00070" codeSystem= | 2 392 200119 6 10107 displayName="fEHESMERE Y g 7

<text />
{entry»
<act classCode="ACT" moodCode="TNI">
<code nullFlavor="NA" />
<entryRelaticnship typeCode="COMP™>
{ohservation classCode="CBS" moodCode="TNT">
Ceode code="1041800117" displayName="3tE ORI TEBOEBEEL"
<yalue xsi:type="INT” value="4" />
{/observation>
</entryRelationship>
<entryRelationship typeCoda="COMP >
<observation classCode="0B3” moodCode="INT ">
‘eode code="1041101117" displayName="TEl L >EMHBEIE (BHZEY
<value xsi:type="INT~ value="2" />
{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="INI">
<pode code="1041101113" displayName="F Lo>& 51 EHaRsiR (EHIZEL) 7 />
¢yalue xsittype="PQ” value="60" unit="min" />
{/observations
</entryRelationship>
<entryRelationship typeCode="COMP’>
{observation classCode="0BS” moodCode="INI">
Ccode code="1041201117" displayName="[8 LonSEHiEEE (ERIZEB) ~ >
<value xsi:type="INT" value="0" />
</observation?
</entryRelationship>
<entryRelationship typeCode= COMP™>
{observation classCode="0BS” moodCode="INT">
<code code="1041201113" displayName="[H k&3t FrRMEHE (@FIZ8HER ~
<value xsi:type="PQ" value="0" unit="min” />
{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="INI">
¢code code="1041302117" displayName="[Bl LoDERIERL (FrA—7XE) “ H
<value xsi:type="INT" value="0" />
</observation>
{/entryRelationship>
<entryRelationship typeCode="COMP™>
<pbservation classCode="0BS" moodCode="INT">

¢code code="1041302113" displayMame= [ bO & ERBR (V1 —7=IE) ~ />

<yalue xsi:type="PQ" value="0" unit="min" />
</observation>
{/entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS” moodCode="INI">
{code code="1041103117" displayName="F_ENOZEHEE (BEACLLZE) 7/~
<value xsi:type="INT" value="0" />
</observation>

/>
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{/entryRelationship>
<gntryRelationship typeCode="COMP™ >
‘ohservation classCode="0B3" moodCode="INT">
¢code code="1041108113" displayMame="1R bOEFEREN (BRI LD=ZE® © 5
‘value xsi:type="PQ” value="0" unit="min" />
<;observation>
{/entryRelationship>
<entryRelationship typeCode="COMP >
¢observation classCode="0BS” moodCode="INI">
¢code code="1041104117" displayName="T bOFEBERR (emailAlZ L DFE) ~ 7>
<yalue xsi:type="INT" value="0" />
</observation>
¢/entryRelationship>
<entryRelaticnship typeCode="COMP' >
{obssrvation classCode="0BS” moodCode="INT">
Scode code="1041203117" displayName="F LOEEER (EFBL2TH -
<value xsiitype="INT” value="1" />
</observation>
¢/entryRelationship>
<entryRelationship typeCode="COMP >
(observation classCode="0BS” moodCode="TNT™>
‘code code="1041202113" displayiame="B L O & FERBR (BEBI L A2EE) ~ /»
<value xsi:type="P" value="5" unit="min" />
</observation>
Z/entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS” moodCode="INI">
<code code="1041204117" displayNeme="FF L EHEIH (e-mailBiZ L 5EH) ~ />
<value xsi:type="INT" value="2" />
</observation>
‘/entryRelationshipy
tentryRelationship typeCode="COMP">
{chservation classCode="0BS" moodCode="INT">
<code code="10411001t4" displayName="f8l iz K&K b (Z8EO" 5
{value xsiitype="INT" value="160" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0B5" moodCode="INT">
<code code="1041200114" displayName="f bizX BH 1 | (KiERY" />
<value xsi:type="INT" value="20" />
</observation>
</entryRelationship>
ZentryRelationship typeCode="COMP™>
¢observation classCode="0BS” moodCode="INT">
{code code="1041800114" displayNeme="R EIZ X BH 12+ (BEH™ 1
<value xsiitype="INI" valus="180" />
</observation>
{/entryRelationship>
acts
Lry>
ion?
ent>
edBody>

301:</ClinicalDocument>
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1.¢?xml version="1 0" encoding="UTF-8"7>

2 <healthGuidanceClaim xmlns:xsi="hetp://www w3 org/2001,XMLSchema-instance” zsi:schemalocation="http!//tokuteikenshin jp/checkup/2007 . /XSD/

{gc08_Y08 xsd” umlns="http://tokuteikenshin ip/checkup/2007">

41
42
43
44
45
46
47

{encounter>
<serviceEventIype code="2" />
<guidancelevel code="1" />
<guidanceTiming code="2" />
</encounter>
<subjectPerson®
{performerOrganization>
id yoot="1 2.392 200119 6 102" extension="1310001001 />
4/ pex formerCr ganization?
{insuranceCard>
<insurerNumber root="1, 2.392 200119.6 101" extension="00131001" />
<symbol root="1.2 302 200119 6 204" extension="1 11" />
(number root="1 2 392 200119 6 205" extension="11" />
¢/ insuranceCard>
{name> 7 ¥ 2 A F 2 WA F{/namer
<addr>
<postalCode>100-1001</postallode?
</addr >
¢hirthTime value="19400421" />
<administrativeGender code="1" />
</subjectPerson>
<healthéidanceCard>
¢id root="1 2 392 200119 6. 210" extension="08110000011" />
<checkupCardld root="1.2 392 20011 6 209" extension="08100000011" />
L{effectiveTime>
<high value="200903317 />
{feffectiveTime>
<copayment code="3">
<rate value="020000" unit="%" />
{/copayment>
</heal thGuidanceCard>
{settlement”
{unitPrice>
<amount valus="30000" currency="JPY" />
<funitPrice>
<paymentRate value="80" unit="%" />
<pointCountCompleted value="180" />
{pointCountIntended value="180" />
<caleulatedAmount value="18000" currency="JPY" />
{payment>
<status code="1" />
<amount value="0" currency="JPY" />
</payment>
{elaimAmount value="18000" currency="JPY" />
</settlement>

48 i</heal thGuidanceClaim>

SRR -1
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g13100010012008061012000000 xml

1 <7xml version="1 0" encoding="UTF-8" 7>

9 ¢ClinicalDocument xmlns:xsi= htep://www v} org/2001/XMl Schema-instance” xsi:schemalocation="urn:hlf-org'v3

3

By
=

[ B I T N COT N R U R
W o e LN

39
40
41
4
43
44,
451

o

47
48!
44,
50
Bl
52
53
54
55
56
57
58
59
60!
61

orgivi”>

62

83
54
85
86
87
&3
69

70!
n-

72
73
74
75
G
7
8

79!
80.

81

<typeld root="2. 16.840 1 113883 1 3" extension="POCD_HDOGOO4D™ />
<id nullFlaver="NI" />
<code code="22" codeSystem="1.2 392 200119 & 1001 />
<affectivelime value="20080610" />
<confidentialityfode code="N" codeSystem='2 16 840 I 113883 5 25~ />
{recordlar get>
{patientRole>
<id root="1 2 392 200119 6.1017 extension= 00131001 />
<id root="1 2 332 200119 § 2047 extension="t"1 17 />
<id root="1 2 392 200119 6 205~ extension="11" />
<addr>
{postalCode>100-1001</postalCode>
</addr >
{patient>
(name> 7 # A F i =77 4 F</name>
<administrativeGenderCode code="1" codeSystem="1 2 392 200118 6 11047 />
<birthTime value="194004217 />
<{fpatient>
<{/patientRole>
</recordlarget>
{author>
<time value="200806107 />
<assignediuthor>
<id mullFlavor="N1" />
<{representeddr ganization>
id roet="1 2 392 200119 6 102" extension="1310001001" />
<nameyBIE 17 U = v ¥ < name>
(telecem value="tel :0300000001" />
<addr>
<postalCode>100-1001¢/postalCode> BUALARFAU AKX AET 1 XML @M o L fE/addr>
</representedOrganization>
</assimediuthor?
</author>
<custodian>
KassignedCustodian>
{representedCustodianty ganizat ion>
<id nullFlaver="NI" />
</representedCustodianOrganization>
</assignedCustodian>
{feustodians
{participant typeCode="HLD">
¢(functionCode code="1" codeSystem="1 2 302 200119 6 208" /»
{associatedEntity classCode="IDENT >
<id extension="08100000011" root="1 2 352.200119 & 209 100131001 />
<{scopingQrganization>
<id root="1 2,392 200119 6 101" extension="00131001" />
</scopingdrganization®
</associatedEntity>
</participant>
<participant typeCode="HLD">
<functionCode code="2" codeSystem="1 2 392 20011% 6 208" />
{time>
<high value="20090331" />
<ftime>
<associatedEntity classCode="1DENT >
<id extension="08110000011" root="1 2 392 200119 6 210 1001310017 />
<{scopinglrganization>
<id root="1 2 392 200119 6 101" extension="00131001" />
{/scopingOzganization>
{/associatedEntity>
</participant>
<{documentation0f>
{serviceEvent>
<code code="106" codeSystem="1.2 392 200119 6 1002”7 displayName="4§EfRERISE" />
<effectivelime value="20081006" />
<performer typeCode="PRF™>
{assignedEntity>
<id nuilFlavor="NI" />
{representedCrganization>
<id root="1.2 392 200119 6 102" extension="1310001001" />
{name>B3B 1 7 ¥ = » 7 {/name>
<telecom value="tel:0300000001" />
<addr>
<postalCode>100-1001</postalCode HAEER T RAEAKESA 1 XML 5 o 1 fEd/ addr>
<{/representedOrganization?
{/assignedEntity>
</performer>
</serviceEvent>
</documentationQf>

e Gl -1 -

/xsd hgf8_ VOB xsd” xmlas="urn:hi7-
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82, {component>

33 <structuredBody>

84 {component>

85 {section>

86 {code code="B0070" codeSystem="1.2 392 200119.6 1010 displayName="{5EHEIERE Y v 3" />
87 {text />

88 {entry>

89- <act classCode="ACT" moodCode="EVN >

90 Zcode nullFlavor="NA" />

o1: {entryRelationship typeCode="CONP >

92! <observation classCode="0B3" moodCode="EVN">

93’ <code code="1042800117" displayiame="325 b REEre i TN EREE" />
94; <value xsiitype="INI" value="5" />

95° </observation>

9 </entryRelationship>

97! CenttryRelationship typeCode="COMP">

98: <observation classCode="0BS" moodCode="EVN™>

95 ¢code code="1042101117" displaylame="Efi_Lo>#Fa L X BOEmEY (EMNEEN -~ »
100 <value x5 type="INI" value="2" />

101 {/observation”

102 </entryRelationship>

103 {entryRelationship typeCode="COMP”>

104 <ohservation classCode="0BS" moodCode="EVN">

105 <code code="1042101113" displayName="1R L D&t EERE (EHXEY) ~ />
108 <value xsi:type="PQ" value="860" unit="min" />

107 </ebsexvation>

108 </entryRelationship>

109 <entryRe lat ionship typeCode="COMP >

110 <observation classCode="0B5” moodCode="EVN >

831 <code code="1042201117" displayName="fA Lo R (EREER ~ />

112 <value xsi'type="INT" value="0" />

113 </observation>

Lid Z/entryRelationship>

115 <entryRelationship typeCode="COMP">

116 {observation classCode="0BS" moodCode="EYN">

117 (code code="1042201113" displayName="[8] E>& 3 EMERRT (ERIZZER ~
118 <value xsiitype="PQ” valug="0" unit="min” />

119 </ohservation>

120 </entryRelationship>

121 CentryRelationship typeCode= COMP">

192 <obsetvation classCode="0BS" moodCode="EVN ">

123 <code code="1042302117" displayMame="Fl L OEEEE (FV—7HE
124 <value xsi:type="INT" value="0" />

125 </ohservation>

126 <fentryRelationship>

127 <entryRelationship typeCode="COMP™>

128 <observation classCode="0BS" moodCode="EVN">

129 <code code="1042302113" displayName="[Al b-D&ESEHEMER (Y —7 2288 © »
130 <yalue xsi:type="PQ” value="0" unit="min” />

131 </observation>

132 </entryRelationship>

133 <entryRelationship typeCode="COMP">

134 <observation classCode="0BS” moodCode="EYN">

135 <code code="1042103117" displayName="R EOEREH (B L5%H) "
136 <value xsi:type="INI” value="0" /> :
137 </observation>

138 </entryRelationship>

139 <entryRelationship typeCode="COMP™>

140 <observation classCode="OBS" moodCode="EVN >

141 <code code="1042103113" displayName="[Fl ko> & 3H3EMIFER (EHACLI AR 7 /1>
142 <{value xsiitype="PQ” value="0" unit="min" />

143 </obgervation>

144 </entryRelationship>

145 <entryRelationship typeCode="CCMP">

146 {ohservation classCode="0BS” moodCode="EVN">

147: <code coda="1042104117" displayName="[Rl - DEREE (e-milAlc L 2EE) ~ />
148 <value xsi:type="INI" value="0" />

148 {/observation>

150 {/entryRelationship>

151 <entryRelationship typeCode="COMP">

152 {ohservation classCode="0BS" moodCede="EVN">

153 <code code="1042203117" displayName="F] EOEEER (BHEBIZLLEE) 7 />
154 <value xsiitype="INT” value="1" />

155 <{/observarion>

156 </entryRelationship>

157 <entryRelationship typeCode="COMP”>

158 <observation classCode="0BS” moodCode="EVN">

159: <cods code="1042203113" displayName="f81 bod&atsehiesfm (EFEB-L2XRB 7 />
160 ¢value xsiitype="PQ" value="3" unit="min" />

161 </observation>

162 </entryRelationship>

163} ¢entryRelationship typeCode="COME™>
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164
165

156"
167
168
169
170
17t

172
173
174
1751
176"
7
178

179

180

191

194
195
196
197
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199
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208
00
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214
215
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219
220
221

<observation classCode="0BS" moodCode="EVN™>

{eode code="1042204111" displayName="F LOEWEE (e-milBiz L AEE) ~ />

<value xsiitype="INT" value="2" />
</observation>
{/entryRelationship>
<entryRelationship typeCode="COMP >
<observation classCode="0BS" moodCode="EVN">

<code code="1042100114" displayName= FEHRTARTIBIC L AR 1 2§

<value xsi'type="INT" value="160" />
<fobservationr
</entryRelationship>
<entryRelationship typeCode= COMP”™>
{observation ¢lassCode="0BS” moodCode="EVN">

<code code="1042200114" displayName="fgA07 TIBI- L a1 2 b (IR />

<value xsi:type="INT” value="20" />
{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" mocdCode="EVN">

Ccode code="1042800114" displayName= HEEEROA TRIC L AR At

<value xsi:type="INT” value="180" />
{/observation>
</entryRelationship>
<{entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN>

{code code="1042800118" displayName="S5EfFHE N EREMELT

<value xsi’type="INT" value="2" />
</observation>
{/entryRelationship>
<entryRelationship typeCode="COMF >
{observation classCode="0BS” moodCode="EVN ">

(BN T

(

Fas
=4

T

<code code="1042000022" displayName="FEfe bOEa2EEOKRTA” />

<value xsi:type="ST17>20080901</value>
{/observation>
</entryRelationship>

facty

{/entry>
{/section>

< /component >
{compenent>
{section>

Cecode code="90040" codeSystem="1 2 392 200118 6 1010" displayName="#EXiBERY 7 a3 > "

{text /2
{entry>
<act classCode="ACT” moodCode="EYN ">
{code code="1" codeSystem="1. 2.392 200119 6 1113" />
Ceffectivelime value="20080818" />
{performer”
<assignedEntity>
<id nullFlavor="NI" />
<code code="1" codeSystem="1 2 392 280119 6 30207 />
</assignedEntity>
</performer >
<entryRelationship typeCode="COMP ">
<observation classCode="0BS" moodCode="EVN">
<code code="1032100013" />
{effectivelime>
<width value="80" unit="min" />
</effectivelime>
</observation>
{/entryRelationship>
<entryRelationship typeCode=""COMP >
{observation classCode="0BS” moodCode="EVN >
<code code="1032100014" />
Zyalue xsiitype="INT" value="30" />
</observation>
{/entryRelationship>
{/act>
</entryr
{entry>
{act classCode="ACI” moodCode="EVN>
{code code="5" codeSystem="1.2.392 200119.6. 1113”7 />
<effectivelime value="20080506" />
<performer>
<assignedEntity>
<id nullFlaver="N1" />
<code code="1" codeSystem="1 2 392 200119.6 30207 />
¢/assignedEntity>
{/performexr>
{entryRelationship typeCode="COMP”>
<observation classCode="0BS" moodCode="E¥YN™>
{eode code="10322000137 />
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269

271
272

273

274

275

276

277
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280
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{effectivelime>
{width value="5" unit="min" /2
Seffectivelimer
‘/observation>
“/entryRelationship>
ZentryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EV}">
<code code="1032200014" />
<value xsi’type="INT" value="10" />
<fobservation>
</entryRelationship>
CSacty
/entry»
<entry>
Zact classCede="ACT” moodCode="EVN >
{code code="1" codeSystem="1.2 392 200119 6 1113" />
Zeffectivelime value="20080602" />
{performer>
<agsignedEntity>
<id nuliFlavor="NI" />
{code code="1" codeSystes='1 2 392 200119 6 30207 /»
/assignedEntity>
</performer >
<entryRelationship typeCode="COME >
<chservation classCode="0BS” moodCode=" EVN™>
{code code="1032208013" />
<effectivelimer
Zwidth value="5" unit="min" />
<feffectivelime>
</observation>
{/entryRelationship>
{entryRelationship typeCode="COMP">
{chservation classCode="0BS” moodCode="EVN">
<code code="1032200014" />
<value xsi:type="INT" value="5" />
{/observation>
</entryRelationship>
<Sacty
</entry>
<entry>
<act classCode="ACT moodCode="EVN'>
{code code="7" codeSystem="1.2.392 200119 & 1113 />
(effectivelime value="20080901" />
<performer>
<assignedBntity>
<id nutiFlavor="NI" />
{code code="1" codeSystem="1 2 382 200119 6 3020~ />
/assignedEntity>
</performer >
<entryRelationship typeCode="COMP">
{observation classCode="0BS” moodCode="EVN ">
<code code="10322000137 />
Keffectivelime>
<width value="5" unit="min" />
{feffectivelime>
</cbservation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
{eode code="1032200014 />
<value xsi:type="INT” value="5" />
</observation>
</entryRelaticnship>
{/actd
<fentryr
</section?
</compenent>
{component >
{section>

<code code="90050" codeSystem="1.2 352 200119 6.1010" displeyNeme="PEFEEEHR T 22" -

{rext />
{entry>
<act elassCode="ACT" moodCode="EVN">
<code code="1" codeSysten="1.2.392 200119 § 3004" />
{effectivelime value="20080722" />
<performer>
CassignedEntity>
<id nullFlaver="NI" />
<code code="1" codeSystem="1 2 392 200119 6 3020" />
¢/assignedEntity>
</performer>
{entryRelationship typeCode="COMP">
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328
399
330
331
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{chservation classCode="0BS" moodCode="EVN">
{code code="1032000013" />
{effectivelime>
<width value="30" unit="min" />
<feffectivelime>
/observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
‘observation classCode="0BS” moodCode="EVN >
<eode code="10320000147 />
<value xsi:type="INT” value='80 />
</observation>
<{/entryRelationship>
‘entryRelationship typeCode="COMP ">
<chservation classCode="0BS" moodCode="EVN">
Ccode code="1032001031" />
<value xsi:type="PQ” value="8L" unit="ca />
<fobservation>
{/entryRelationship>
<entryRelationship typeCode="COMP™>
<ohservation classCode="0BS” moodCode="EVN >
{code code="1032001032" />
¢value xsi:type="PQ" value="80" unit="kg />
</observation>
¢/entryRelationship>
{entryRelationship tvypeCode="COMP">
{chsetvation classCode="0BS” moodCode="EVN">
<code code="1032001033" />
<value xsiitype="PQ” value="135" unit="mm{Hgl™ />
{fobservation>
</entryRelaticnship>
<entryRelationship typeCode="COME' >
{chservation classCode="0BS" moodCode="EYN >
{code code="1032001034" />
<value xsi:type="PQ” value="90" unit="mm[Hgl />
</ohservation>
</entryRelaticnship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS” moodCode="EVN™>
<code code="1032001042" />
¢value xs1type="CD" code="1" codeSystem="1 2 392 200119 & 3010” />
</observation>
</entryRelationship>
{entrvRelationship typeCode="COMP">
<ohservation classCode="0BS” moodCode="EVN">
<code code="1032001041" />
<value xsi:type="CD” code="1" codeSysten="1 2 392 200119 6 3010”7 />
{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP >
{ohservation classCode="0BS" moodCode="EVN">
<code code="1032001043" />
<value xsi:type="CD" code="1" codeSystem="1.2 392 200119 6 3011" />
{/observation>
</ent1yRelationship>
<fact?
</entry»
</section>
{/component>
{component>
<{section?

<code code="90060" codeSystem="1 2 392 200119 6 1010" displayName= B SEMlERET va "

{taxt />
{entry>
<act classCode="ACT” moodCode="EVN">
{code code="3" codeSystem="1 2.392 200119 & 3005”7 />
<effectivelime value="20081006" />
{performer>
{assignedBntity>
<id nullFlaver="NI" />
<code code="1" codeSysten="1 2 392 200119 6 3020 />
{/assignedEntity>
</performet”
<entryRelationship typeCode="COMP">
<observation ¢lassCode="0BS" moodCode="EVN >
<gode code="1042000116" />
<value x5i:type="INT" value="0" />
{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS" moodCode="EYN >
<eode code="10420010317 />
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410 <valug xsi:type= PR value="18 unit="cm" />
4111 </observation?

412 {/entryRelationship>

413 <entryRelationship typeCode="COMP’ >

414 <observation classCode="0BS” moodCode= EVN™>

415 ccode code="1042001032" />

116 <valne xsi:type= PQ7 value="78" unit= kg />

417 {/observation>

418 {fentryRelationshipy

419 <entryRelationship typeCode="COMP >

420 {observation classCode="0BS" moodCode="EYN >

421 {code code="10420010337 />

422 (valve xsiitype="PQ” value="125" wnit="mm{Hg]" />
423 {/observation?

424 </entryRelationship>

425 <entryRelacionship typeCode="COMP >

426 {observation classCode="0BS" moodCode="EVN">

427 <code code="1042001034" />

428 <value xsi'type="PQ" value="75" unit="mm[Hg} />
429 {/observation>

430 </entryRelationship>

431 <entryRelationship typeCode="COMP >

432, <observation classCode="0BS" moodCode="EVN">

4331 <cods code="10420010427 />

434; <value xsi:type="CD" code="1" codeSystem="1 2 382 200119 & 3010”7 />
435 </observation>

436 <fentryRelationship>

4371 <entryRelationship typeCode="COMP">

4381 <observation classCode="0BS" moodCode="EVN™>

439, <code code="1042001041" />

440° <yalue xsi:type="CD" code="1" codeSystem="1 2. 3%2 200119 & 3010 />
441, <fobservation>

442 </entryRelationship>

4431 <entryRelationship typeCode="COMP >

444 <{observation classCode="0BS" moodCode="EVN">

445 {code code="1042001043" />

446 {value xsiitype="CD” code="3" codeSystem="1 2 392 200119 6 3611" />
447 </observation>

448 </entryRelationship>

449 <fact>

450 {/entry>

451 {/section>

452 ¢/component>

453 </structuredBody>

454 </compenent>

455 | </ClinicalDocument
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